
Interpreting environmental impacts of wooden windows based on existing 
EPDs: An application in Italy

Victor Marinello Jorba a, Elisabetta Palumbo b,*, Pamela del Rosario a, Marzia Traverso a

a Institute of Sustainability in Civil Engineering (INaB), RWTH Aachen University, Germany
b Department of Engineering and Applied Science (DISA), University of Bergamo, Italy

A R T I C L E  I N F O

Keywords:
Environmental product declaration (EPD)
Life cycle assessment (LCA)
Embodied Impacts
Wooden Window
Functional Unit (FU)
Italian climate zone

A B S T R A C T

To meet climate targets, it is necessary to adopt robust and recognized methods, such as life cycle assessment 
(LCA), to evaluate emissions, particularly from building materials. As shown in the literature, embodied impacts 
have become as significant as operational impacts. The embodied impacts of a specific product are given in a 
transparent and quantitative manner in environmental product declarations (EPDs), based on LCA results. 
Windows play a crucial role in the energy performance of buildings. In fact, they typically account for 10–25 % of 
the exposed area of a building, resulting in more than 60 % of its total energy loss. In Italy, wooden windows 
make up 28 % of the window market and are the cheapest option for mild climates over a timeline of 60 years. 
However, an important element is still missing: a simplified interpretation of EPD results to enable straight
forward, balanced comparisons of the environmental performance between alternatives. In this context, an 
analysis based EPDs of wooden windows is proposed, with a focus on production and use stages, for the six 
Italian climate zones. The three main steps of the study are: 1) evaluation of the influence of window properties 
on the embedded impacts; 2) assessment of maintenance scenarios; and 3) estimation of operational impacts 
regarding window properties and exposed climate. The results suggest that the influence of thermal trans
mittance, wood type and exposed climate is higher for cold climates due to better performing production ma
terials and more frequent maintenance during service life.

1. Introduction

According to recent reports from the International Energy Agency 
[29], the floor area of buildings is expected to rise by 75 % between 
2020 and 2050. In 2022, buildings accounted for 34 % of global energy 
demand and 37 % of energy and process-related carbon dioxide (CO2) 
emissions [53].

To reduce operational energy demand, the construction sector has 
focused in the last years on improving the energy efficiency of buildings, 
introducing stricter requirements for energy-efficient buildings such as 
Passivhaus and nearly zero-energy buildings (nZEB) [16,33,48]. Some of 
these requirements are based on improving the building envelope by 
using products and materials with improved thermal performance to 
reduce the energy consumption for heating and cooling [3,15].

Windows are architectural elements that constitute 10–25 % of the 
building envelope area [47]. Due to their low thermal resistance in 
comparison to other elements in the building envelope, they are 
responsible for up to 60 % of the total energy loss in buildings [33,47].

Over time, innovative solutions have been developed to optimise the 
thermal performance of windows, such as multi-layered and vacuum 
glazing, selective and low-emissivity coatings, electrochromic windows 
and aerogels, among others [7,33,48]. Even though these developments 
and improvements have achieved a reduction in the operational energy 
consumption of buildings, they have also generated higher embedded 
emissions, i.e. emissions related to the production, transport, and End- 
of-Life (EoL)[16,28,34,48]. and therefore play a key role in the envi
ronmental impact of buildings [6].

A way to reduce embodied carbon is to replace raw material carbon- 
intensive raw materials used in construction with wood [54].

Wood remains the oldest material used for windows, and it has been 
widely used for aesthetic purposes, despite the availability and use of 
other materials [2].

However, wood is a hygroscopic material and therefore highly 
affected by moisture, requiring particular care in its use and processing. 
Furthermore, understanding its performance and potentially ensuring 
long-term protection and maintenance are crucial when it is used as a 
building material [25].

* Corresponding author.
E-mail address: elisabetta.palumbo@unibg.it (E. Palumbo). 

Contents lists available at ScienceDirect

Energy & Buildings

journal homepage: www.elsevier.com/locate/enb

https://doi.org/10.1016/j.enbuild.2024.114987
Received 10 July 2023; Received in revised form 30 October 2024; Accepted 31 October 2024  

Energy & Buildings 326 (2025) 114987 

Available online 6 November 2024 
0378-7788/© 2024 The Author(s). Published by Elsevier B.V. This is an open access article under the CC BY-NC-ND license ( http://creativecommons.org/licenses/by- 
nc-nd/4.0/ ). 

mailto:elisabetta.palumbo@unibg.it
www.sciencedirect.com/science/journal/03787788
https://www.elsevier.com/locate/enb
https://doi.org/10.1016/j.enbuild.2024.114987
https://doi.org/10.1016/j.enbuild.2024.114987
http://creativecommons.org/licenses/by-nc-nd/4.0/
http://creativecommons.org/licenses/by-nc-nd/4.0/


According to the study by Tarantini et al. [50] and as indicated in 
Fig. 1, window production is the life stage with the highest impact on all 
three impact categories considered (80 % in GWP, 62 % in AP and 56 % 
in POCP), followed by the use stage (about 20 % in GWP and POCP and 
40 % in AP), while the contribution from the maintenance stage is low 
except for POCP (18 %).

This is reflected in the Whole Life Carbon (WLC) approach indicated 
in the recast Energy Performance of Buildings Directive (EPBD), which 
highlights that making good choices about efficient building practices 
and materials can have a huge impact on both operational and embodied 
carbon emissions [10].

To achieve more comprehensive results, the recast EPBD has, with 
support by several initiatives, recently incorporated whole-life carbon 
assessments into building performance evaluation.

Whole-life carbon encompasses both embodied carbon (from mate
rials and construction) and operational carbon (from energy used during 
the building’s use), resulting in the total greenhouse gas emissions and 
their related impact on climate change throughout the entire lifespan of 
a building.

Across the EU, several national initiatives have aimed to establish 
methodological, data, and reporting frameworks for entire life cycle 
performance [57].

An appropriate method to support the WLC evaluation is the Life 
Cycle Assessment (LCA). LCA has been introduced as a mandatory 
calculation method for new buildings in some European countries, and it 
is expected to be adopted in all member states by 2030. In fact, the LCA 
method is commonly used to calculate GHG emission reduction poten
tials, whether at the material, building, or building stock level [4]. One 
of the ways to perform a building LCA is to gather the environmental 

impacts on the product by analysing Environmental Product Declara
tions (EPDs) from producers [58].

EPD data from manufacturers, rather than generic secondary data 
from databases, can significantly reduce the uncertainties in the LCA 
results.

Loli et al. [35] demonstrated a 15 % difference in GHG emissions and 
impacts in LCAs conducted for the product stage (modules A1-A3 of EN 
15804).

In Italy, the LCA, and in particular EPDs, are required by the Green 
Public Procurement regulations as part of the requirements related to 
building materials.

The International Reference Life-Cycle Data (ILCD) System, a Euro
pean framework to develop consistent and robust life-cycle data and 
studies, recommends using specific data in LCA, such as EPD [56]. 
Product-specific data in the form of EPDs is also advocated by various 
Green Building Rating Systems and sustainability frameworks, such as 
DGNB and Level(s). This is also reflected in literature, which demon
strates that by comparing the influence of generic and specific datasets 
on LCA results, EPDs offer a significant advantage when used as a data 
source [17].

EPDs are voluntary labels to provide in a reliable, accurate and 
verified manner, especially in business-to-business (B2B) communica
tion, transparent and quantitative environmental impact results from a 
specific product based on LCA results [8,9,18,22,40]. This type of label, 
also called a type III environmental declaration, is a third-party verified 
document that is regulated by the ISO 14025 standard. Once certified, a 
type III environmental declaration is registered and published by a 
Program Operator (PO), such as the International EPD® System, which 
besides the registration also manages the publication of the instructions 
to develop the label and product category rules.

In particular for construction products, EPDs must comply with 
specific rules, requirements, and guidelines called Product Category 
Rules (PCR) that are based on EN 15804. The PCRs for Windows and 
doors was provided by EN 17213, which expired in 2020 and is currently 
under revision [14].

EPDs are primarily used to compare and communicate LCA results 
and do not provide information about the product’s environmental su
periority or inferiority [12]. Therefore, to assess how a design solution 
affects the environment, designers need to conduct a comparative 
assessment. This means referring to “the superiority or equivalence of 
one product versus a competing product that performs the same func
tion” [30,32].

In the construction sector, comparing EPDs within the same product 
categories is inherently complex in practice. According to various 
studies [24,49], insufficient harmonisation and the unregulated devel
opment of PCRs are thought to contribute to this complexity,

These limitations prevent designers from drawing clear, objective 
conclusions about environmental performance in building design, 
leading to uncertainty and subjective decision-making.

Nomenclature

AP Acidification Potential
ADP-e Abiotic Depletion Potential for Non-Fossil Resources
ADP-f Abiotic Depletion Potential for Fossil Fuels
EoL End-of-life
EP-fw Eutrophication Potential in Freshwater
EPD Environmental Product Declarations
GWP Global Warming Potential
LCA Life Cycle Assessment
ODP Ozone Depletion Potential
PCR Product Category Rules
POCP Photochemical Ozone Creation Potential
PVC Polyvinyl chloride
Uw-value Thermal transmittance of the whole window
WLC Whole Life Carbon

Fig. 1. Contribution of the wood window life cycle to Global Warming Potential [kg CO2-eq.], Photo-oxidant formation [kg C2H4-eq.], and Acidification [kg 
SO2-eq.].

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

2 



In order to investigate this issue, a preliminary review of a number of 
EPDs related to windows published by the best-known European POs is 
conducted, identifying approximately 360 EPDs. Of these, polyvinyl 
chloride (PVC) and aluminum are more popular, followed by aluminum- 
clad timber, while wooden windows are the least monitored and ana
lysed in the market, even if in Europe they account for a 24 % market 
share [23].

Furthermore, most EPDs analysed do not report further modules 
other than the product stage, even though the newest version of the EN 
15804:2012 has expanded the minimum mandatory scope to incorpo
rate the EoL stage [19]. Nowadays, similar studies exist for PVC, 
aluminum or aluminum-clad timber windows, but there is no specific 
analysis for wooden windows. This represents a limitation for architects, 
engineers, and LCA experts who intend to compare the environmental 
performance of wood-based windows based on their EPDs.

The selection of windows with the lowest life-cycle environmental 
impacts in an early-design stage is important to minimise the impacts of 
buildings. A streamlined LCA is still required for an integrated envi
ronmental and cost assessment of windows that fully incorporates 
embodied and operational energy assessments of windows at the early 
stages of building design, while also minimising cost and environmental 
performance [46].

Given this context, the study presents a holistic approach to rapidly 
guide the selection of an optimum wooden window system in order to 
reduce the environmental impacts of the building and to perform a more 
comprehensive LCA of windows.

A simplified LCA method has been applied to compare the impacts of 
alternative wooden windows using EPD data, considering the two main 
life cycle stages: production and maintenance.

Three main factors: window properties (Uw-value, wood and glazing 
types), and maintenance scenarios have been considered as input 
variables.

This approach can support window selection in a sustainable build
ing design process, detailing product- and maintenance-related impacts, 
rather than focusing solely on the production phase.

In addition, this article investigates the consistency of the results 
provided by the EPDs published to date, given the more robust LCA 
datasource, in the most known European Program Operators.

This study encompasses a set of glazing and wood frame solutions 
that cover a wide range of thermal transmittance and outdoor exposure 
for windows. Hence, this approach can also be used to perform an 
environmental LCA of the other popular window solutions in the market 
with a wide range of materials, frames and values of thermal 
transmittance.

The first part of the paper is devoted to a review of the EPDs of 
wooden windows according to EN 15804 and determining the main 
characteristics that are further analysed in the study: thermal and 
acoustic insulation, optical properties, mechanical properties, and 
environmental impacts. The approach followed in the present research 
regarding measurements and evaluations are then reported. The results 
of various analyses of a wooden double-glazed window chosen as a 
reference sample and its alternative, optimised design are presented. 
Many different window configurations were considered in order to 
evaluate the influence on the various properties, and three comparative 
assessments were performed to consider the different environmental 
impacts. Finally, the discussion presents the overall performance, 
considering all the various aspects.

2. Background

2.1. Key enablers in defining environmental profile of window

Windows act as a connector between indoors and outdoors, sup
porting adequate air-conditioning by supplying thermal insulation and 
natural lighting, and protecting against bad weather or external factors 
(e.g. atmospheric pollution, insects) [5,45]. When selecting the type of 

window to install in a building, several aspects need to be considered: 
thermal transmittance, which is related to frame material and glazing 
type, cost, maintenance requirements, etc.

Different materials are used to produce the window frame: PVC, 
aluminum, wood, and aluminum-clad timber. In Italy, the volumes of 
sales for the window and door market reached €4.6 billion 2018, cor
responding to 7.5 million window units and 8.8 million m2. Based on 
Garzia [23], the Italian market is expected to continue expanding, 
reaching, the €5.3 billion and 8.4 million window units by 2022 despite 
the decreasing demand from 2020 due to the Covid-19. More specif
ically, in 2020, the Italian window market shares for PVC, aluminum, 
and wood materials in volume were 3.01 million units (43 %), 2.31 
million units (33 %) and 1.68 million units (24 %), respectively, which 
in value represented €1.62 million (36.5 %), €1.55 million (36 %) and 
€1.26 million (28.5 %).

Two important aspects which significantly affect the environmental 
performance of the various types of window are durability and main
tenance frequency during the service life, considering the climate 
exposition of the window. In this regard, Menzies et al. [38] have esti
mated that the Service Life Planning for windows based on ISO 15686–8 
methodology is 56–65 years for timber and 71–83 years for aluminum- 
clad timber. However, the service interval is about 7 to 8 years for 
wooden windows and 20 to 30 years for aluminum-clad timber in non- 
extreme areas (non-coastal areas at low altitude and areas within 0.5 
miles of the coast, respectively).

Moreover, the environmental impacts of a window are not restricted 
to the window itself, as it is also has an impact on the overall energy 
characteristics of a building. The operational environmental impacts of 
the building are related to the energy requirements for heating and 
cooling to satisfy the comfort of the building’s users. Windows are 
usually upgraded to reduce thermal transmittance, decrease wind draft 
in winter and the heat of the sun in summer; increase natural daylight, 
and raise acoustic insulation to reduce noise [41]. Another benefit from 
the use of technologically improved windows is the added resale value 
for the buildings.

2.2. EPD as LCA data source impacts

Life Cycle Assessment (LCA) is an established method to quantify the 
environmental impacts of products throughout their complete life cycle 
[44], taking into consideration both embedded and operational impacts. 
In the construction industry, LCA is increasingly used to support the 
selection of building materials, products, and elements based on a life 
cycle perspective [15,50,51]. LCA is standardised by the international 
standards ISO 14040:2006 + A1:2020 and ISO 14044:2006 + A2:2020 
[30,31].

To perform LCA, the International Reference Life-Cycle Data (ILCD) 
System recommends adopting specific data to carry out consistent and 
robust LCA studies. In this regard, a common internationally adopted 
source is EPDs. EPDs are regulated by ISO14025:2011 and ISO 
21930:2017 at a general level, and by the EN 15804:2012 + A2:2020 for 
the product category of construction products and materials[17].

EPDs reveal information on potential environmental impacts, 
resource use and waste generation [12], providing producers with the 
opportunity to understand the environmental impacts of their products 
and, when integrated into a building LCA, the relevance of the overall 
environmental performance of a building [13]. Moreover, following the 
same argument, certain Green Building Rating Systems (GBRSs), e.g. the 
Deutsche Gesellschaft für Nachhaltiges Bauen (DGNB), and building sus
tainability frameworks, such as Level(s), encourage the use of EPDs in 
the environmental assessment of buildings [17,40].

In recent years, EPDs have become more adapted for the perfor
mance of LCA studies, especially in the construction sector, where there 
is a higher demand for the quantification of environmental performance 
[39,43]. Nonetheless, EPDs present some shortcomings when used as a 
data source to evaluate the environmental impacts of buildings. In 

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

3 



particular, most EPDs do not provide information on the complete life 
cycle of the covered product. Mainly due to the lack of data for life cycle 
stages beyond the product stage and to the previous version of the EN 
15804:2012 + A2:2020, where only the product stage was mandatory, 
the scope of most EPDs is cradle-to-gate or cradle-to-gate with options. 
As Božiček et al. [12] pointed out, the interpretation of the LCA results is 
missing in EPDs. This is a critical issue, since comparative analyses must 
be conducted to assess the environmental performance of products when 
using EPD in decision-making processes. The correct interpretation and 
use of EPD and LCA results are essential, while the availability of EPDs 
for certain products and local contexts is still limited.

The aim of this research is to create a model to measure the envi
ronmental impacts of the production and use stages of a wooden window 
even when the technical data is limited. On the one hand, the production 
stage is evaluated to determine which properties have the greater impact 
on the variation in the environmental impacts. On the other hand, the 
use stage is categorised between the different climate zones so that it is 
adaptable to other geographical areas.

3. Methodology

A simplified environmental LCA approach has been proposed to 
easily and accurately compare the impacts of alternative wooden win
dows, taking into account their thermal transmittance value and main
tenance attributes. This approach was developed by using the set of 
indicators and information provided in the EPDs released by European 
program operators up to 2024. The evaluation was performed both in a 
Microsoft Excel spreadsheet and using the SimaPro© software.

This study explores the influence of characteristic parameters of 
wooden windows on environmental impacts in the product and main
tenance stages, respectively. To estimate the environmental impacts of 
the selected wooden windows, the Italian climate zone classification was 
taken as a reference and, in particular, its legislative minimum threshold 
Uw values for windows, given the key role played by thermal trans
mittance of windows in achieving low or zero energy buildings. In 
addition, the Italian context offers the opportunity to test our analyses in 
a broader and heterogeneous perspective.

As shown in Fig. 2, the research was carried out in 3 phases: (1) 
preliminary work, which included the collection and selection of EPDs 
as well as the definition of scenarios; (2) definition of environmental 
impacts in the following life cycle stages: production (considering the 
parameters wood type, thermal transmittance, size, and manufacturer) 
and use stage (focus on maintenance measures and considering thermal 
transmittance, size, climate conditions, and service life) and (3) devel
opment of suggestions to support an informed and targeted choice in the 
design stage regarding aspects that have a greater influence on the life 
cycle environmental impacts of wooden windows.

The focus of the research is on 11 wooden window varieties. The 
selection of these typologies allows for a broad cross-section of wooden 
windows, with a variety of glazing units (double-glazed and triple- 
glazed), wood types (6 species), and a heat transfer coefficient (Uw) 
that is appropriate for Italian climate zones.

Italy has a long extension from North to South with a complex 

orography, resulting in several climate zones. The Italian territory is 
classified into six climate zones ranging from A, indicating areas with up 
to than 600 heating degree days and higher temperatures, to F, indi
cating areas with more than 3000 heating degree days and lower tem
peratures (Fig. 3). Table 2 reports the HDD and threshold U-values of 
windows in different climatic zones in Italy according to Italian 
requirements.

The meteorological and climatic conditions of the different regions 
have constituted an issue for urban design and studies, impacting human 
thermal comfort and the use of space in terms of energy consumption for 
heating, cooling, and ventilation [37]. In this regard, requirements 
regarding Uw-values for windows, including frame and glazing units, are 
defined for each Italian climate zone in Table 1, which shows the values 
up to 2020 and those from 2021 [26]. The latter values were used for 
this study.

With reference to the threshold values shown in Table 1, the evalu
ation focuses on the Uw-values from 0.78 W/m2K to 1.40 W/m2K, 
meeting the strictest thermal transmittance requirements.

3.1. Collection and evaluation of EPDs (Step 1)

This first phase involved the collection and selection of EPDs of 
wooden windows from several known European EPD databases, as re
ported in Table 2. To ensure that the specific criteria for window 
properties for Italy are met, the data to be collected are EPDs referring to 
Europe published on available EPD platforms.

Nine European EPD platforms were consulted and seven of them had 
EPDs for wooden windows. These EPDs represent less than 1 % of EPDs 

Fig. 2. Methodology followed for the research.

Fig. 3. Climate map of Italy. Italy is divided into six climate zones, which range 
from A (warmest), red, to F (coldest), blue.[11]. (For interpretation of the 
references to colour in this figure legend, the reader is referred to the web 
version of this article.)

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

4 



concerning construction products and 20 % of EPDs referring to win
dows. Approximately 40 % of EPDs from wooden windows come from 
the EPD-Norge platform (Table 2).

A total of 22 EPDs of wooden windows were selected in the surveyed 
databases. The products in the collected EPDs present different charac
teristics, such as glazing type, Uw-value and service life.

Furthermore, the products correspond to nine European companies 
and a French public-sector body (EPDs 17 and 18). In the EPDs, four 
types of wood were referenced: acetylated wood [1], pine, spruce, and 
oak. An overview of the EPDs found − including information on product 
manufacturer and commercial name, year of publication, program 
operator and PCR adopted − is shown in Table 3.

The collected EPDs were subsequently further analysed regarding 
window properties (Uw-value, type and geographical locations of wood, 
size, and glazing type) and EPD characteristics (validity, geographic 
representation). A summary is reported in Table 4.

The assessment started by classifying the attributes needed to assess 
and compare the performance of the windows in terms of environmental 
impact.

After collecting the EPDs and extracting the essential information, 
we proceeded to classify the EPDs based on the attributes necessary to 
assess and compare the environmental impact performance of windows.

This part of the analysis involved the definition of the functional 
unit, the system’s boundaries and then the exclusion of products not 
relevant to the study.

The functional unit definition is a crucial part of the first phase of the 
LCA (objective and scope).

According to the international LCA standard ISO 14040/44 [31,32], 
a Functional Unit (FU) is the “quantified performance of a product 
system for use as a reference unit” [19,30] and provides the basis for 
product comparisons.

However, defining the functional unit has been highlighted as a 
challenge in several studies. One of the challenges is the difficulty of 
adequately representing a product with multiple functions [21]. This is 
particularly true for windows, which, in addition to not being custom
ised products (e.g. varying aesthetic and geometric characteristics), are 
made up of different elements, the variability of which in terms of raw 
materials and quantities is very large.

Based on the level of information gathered, the next phase involved 
compiling inventory for the three clusters of windows, which were 
grouped by threshold transmittance values following Italian climate 
zones and attributes (Table 5).

Table 6a and 6b present summaries of the most significant window 
parameters examined for zones F and E.

3.2. Environmental impact calculation EPD-based LCA at various life 
cycle stages (Step 2)

This stage aimed to analyse environmental indicators from the 
collected EPDs to meet the goals and scope of the analysis. Then, envi
ronmental LCA is performed using the LCA indicators from EPDs.

A more detailed assessment concerned the assumptions adopted in 
the EPDs, which are: 

a. Declared or functional unit;
b. Life cycle stages assessed;
c. Service life of window.

The first aspect regarded the declared unit, which relates the mate
rial flows of a product to its environmental impacts and is applied when 
no functional unit can be applied-e.g. when the function of a product 
cannot be clearly described [19]. In this study, 1.00 m2 was assumed as 
the functional unit and the environmental impacts were recalculated to 
refer to this unit value.

A second consideration was the life cycle stages, focusing on the 
product and use stages. However, some EPDs evaluating all the life cycle 
stages –i.e. cradle-to-grave− were also considered relevant as compar
isons to cradle-to-gate or cradle-to-gate with options EPDs. In this case, 
two EPDs assess all the life cycle stages and twelve report at least one life 
cycle stage for each module. More than 75 % of the EPDs include module 
A4-transport to the construction site-in their scope, while five EPDs 
evaluate only the mandatory product stage (cradle-to-gate). The life 
cycle stages included in the collected EPDs are shown in Table 7.

The third assumption was related to the service life of the windows, 
which among the collected EPDs varies from 25 to 75 years. To deter
mine the environmental impacts in the use stage, the average service life 
was 34 years. This was calculated after excluding seven of the twenty- 
one EPDs collected: EPDs 11 and 12 as they do not report service life; 
EPDs 17 and 18 since they refer to an average product made up of 
different windows rather than a specific product; and EPDs 1, 2 and 3 as 
they do not consider the glazing unit.

Thus, the following criteria were defined for the selection of the 

Table 1 
Uw threshold value for the Italian climate zones based on Italian legal 
requirements.

Italian climate 
zones

Heating Degree Days 
(HDD)

Uw threshold value [W/m2K]
DM 2015 
(2015–2020)

DM 2015 
(from 
2021)

A Up to 600 HDD 3.2 3.0
B From 601 to 900 HDD
C From 901 to 1,400 HDD 2.4 2.0
D From 1,401 to 2,100 HDD 2.1 1.8
E From 2,101 to 3,000 HDD 1.9 1.4
F More than 3,000 HDD 1.7 1.0

Table 2 
List of the EPD platform included in this study.

EPD platform Country EPDs of 
windows

EPDs of 
wooden 
windows

Amount of 
EPDs 
collected

AENOR (Asociación 
Española de 
Normalización y 
Certificación)

Spain 2 0 0

CAPEM (Cycle 
Assessment Procedure 
for Eco-Impacts of 
Materials)

Belgium 3 3 3

EPD Italy Italy 5 0 0
EPD-Norge Norway 103 27 6
INIES (Centre 

Scientifique et 
Technique du 
Bâtiment—CSTB)

France 111 14 7

International EPD ® 
System

Sweden 91 12 2

IBU–EPD (Institut 
Bauen und Umwelt e. 
V.)

Germany 24 5 0

ITB (Instytut Techniki 
Budowlanej) EPD 
Program

Poland 10 3 3

Kiwa-Ecobility Experts 
(Kiwa-EE)

Germany 10 6 1

Table 3 
EPDs and criteria of exclusion from analysis.

EPDs Criterion for exclusion

1-2-3 Wooden window frame without glazing
5-7-10 Fixed window
13 Misaligned values of LCI
17-18 Roof window
19-20-21 No information about the window’s components

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

5 



EPDs: 

• The EPDs must register a service life and consider the entire window 
in terms of a wooden frame and glazing unit. As reported before, 
seven EPDs were excluded (EPDs 1, 2, 3, 11, 12, 17, and 18).

• The EPDs must include at least one module of both the product 
(A1–A3) and the use (B1–B7) stages. Three of the remaining EPDs do 
not fulfil this requirement (EPDs 19, 20 and 21). The rest of the EPDs, 
11 in total, were considered for further analysis.

Table 3a 
Overview of Environmental Product Declarations collected.

N◦ Producer Product Year Country EPD platform Product Category Rules

1 Nederlandse Branchevereniging voor de 
Timmerindustrie (NBvT)

Fixed wooden window 
frame

2016 Netherlands CAPEM SBK-bepalingsmethode version 2.0, by SHR in 
2016

2 Wooden window frame & 
turn part

3 Wooden window frame & 
tilt and turn part

4 Lian Trevarefabrikk AS 2-sided inward opening 
window

2015 Norway EPD-Norge NPCR014:2013 (version 1.0) windows and doors

5 Norgesvinduet Kompetanse AS Fixed frame window 2016 Norway EPD-Norge NPCR014:2013 (version 1.0) windows and doors
6 Opening Window 2020 Norway EPD-Norge NPCR014:2019 (version 3.0) windows and doors
7 Nordvestvinduet AS Fixed sash window 2015 Norway EPD-Norge NPCR014:2013 (version 1.0) windows and doors

8 Single window
9 Top hung window
10 Uldal AS Fixed frame window 2018 Norway INIES NPCR014:2013 (version 1.0) windows and doors
11 Svenska Fönster AB Wood window side-hung 2020 Sweden International EPD® 

System
Construction products and construction services, 
2012:01, UN CPC 54 (version 2.31)12 Wood window fully 

reversible
13 Arbor Fenex Pine double-glazed window 2017 Turkey INIES N/A
14 DE-bois Window or French window, 

double glazing
2018 France INIES NF EN 15804:2012 + A1:2014, NF EN 15804/ 

CN:2016, and NF EN 16485:2014 [20]
15 Double-glazed window or 

French window
2020

16 Triple-glazed window or 
French window

2020

17 French Ministry Double-glazed window 
with solid wood

2018 France INIES N/A

18 Triple-glazed window with 
solid wood

2019

19 FAKRO Wooden roof windows- 
double glazed

2018 Poland ITB EPD Program ITB-PCR A

20 Wooden roof windows- 
triple glazed

21 Wooden roof windows- 
quadruple glazed

22 SIA Arbo Windows Outward-opening (Side 
swing- Fix and window)

2023 Latvia Kiwa-Ecobility EN 17213:2020

Table 4 
Characteristic and technical information of the EPDs for wooden windows.

EPD ID Declared unit [m2] Uw-value [W/m2K] Wood type Service life [years] Window area 
[m2]

Glazing type

1 1.00 N/A Accoya 75 4.33 Not considered
2 1.00 N/A Accoya 75 2.16 Not considered
3 1.00 N/A Accoya 75 2.52 Not considered
4 1.82 0.78 Laminated Pine 40 1.82 Triple-glazed
5 1.82 0.72 Laminated Pine 40 1.82 Triple-glazed
6 1.82 0.78 Pine 40 1.82 Triple-glazed
7 1.82 0.71 Pine 40 1.82 Triple-glazed
8 1.82 0.80 Pine 40 1.82 Triple-glazed
9 1.82 0.84 Pine 40 1.82 Triple-glazed
10 1.82 0.62 Pine 40 1.82 Triple-glazed
11 1.00 1.20 Pine and spruce N/A 1.03 Triple-glazed
12 1.00 1.20 Pine and spruce N/A 1.03 Triple-glazed
13 1.00 1.30 Pine 25 1.82 Double-glazed
14 1.00 1.40 Oak 30 1.33 Double-glazed
15 1.00 1.40 Tropical wood 30 1.00 Double-glazed
16 1.00 1.20 Tropical wood 30 1.00 Triple-glazed
17 1.00 1.40 Pine, oak, or tropical wood 25 1.00 Double-glazed
18 1.00 1.20 Pine, oak, or tropical wood 30 1.00 Triple-glazed
19 0.92 1.30 Pine 25 0.92 Double-glazed
20 0.92 0.97 Pine 25 0.92 Triple-glazed
21 0.92 0.58 Pine 25 0.92 Quadruple-glazed
22 1 1.20 Pine 30 1.00 Triple-glazed

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

6 



• At least two types of wood for the window production and manu
facturers in two geographical locations were required for the com
plete analysis. This condition is fulfilled through the heterogeneous 

set of EPDs, as they comprise four different wood types and six 
different European regions.

• A minimum of one EPD should consider all the modules of the use 
stage. This condition is satisfied in two cases: EPD 6 and EPD 13.

• The Uw-values of the windows are between 0.78 W/m2K to 1.40 W/ 
m2K and are therefore in line with the defined requirements for the 
Italian climate zones (Section 3.1.1). Lower Uw-values imply a better 
quality of the window than those required for the Italian climate, 
which means that the optimal cost for the wooden window is not 
contemplated [26]. For this reason, EPDs 5, 7, and 10 are discarded 
on account of too low Uw-values.

After this classification, 11 EPDs were selected for further consid
eration in the study (Table 6a-b).

3.2.1. Product stage scenario
The first consideration concerned the exploration of impacts in the 

product stage, which includes: 

• raw material supply (module A1), environmental impacts are pro
duced as a consequence of the extraction of new materials and re
sources (primary materials) or the reuse of materials and resources 
(secondary materials);

• transport of the raw materials (module A2), the emissions generated 
through the transport from the extraction site to the production plant 
are considered;

• manufacturing stage (module A3) consists of the production pro
cesses, including the production of ancillary products and compo
nents, as well as assembly and transformation processes to obtain the 
final product [52].

Regarding the raw material supply, four different variables were 
evaluated to define their influence on the environmental impacts: wood 
selection, Uw-value, size, and manufacturer, which considers the aspects 

Table 5 
Overview of the analysed windows grouped by Uw-value.

Climatic 
Zone

Uw- 
value 
[W/ 
m2K]

EPD 
ID

Product Wood type Glazing 
type

F ≤ 1.00 0.78 4 2-sided inward 
opening window

Laminated 
Pine

Triple- 
glazed

0.78 6 Opening 
Window

Laminated 
Pine

Triple- 
glazed

0.80 8 Single window Pine Triple- 
glazed

0.84 9 Top hung 
window

Pine Triple- 
glazed

E ≤ 1.40 1.40 14 Window or 
French window, 
double glazing

Oak Double- 
glazed

1.40 15 Double-glazed 
window or 
French window

Tropical 
wood

Double- 
glazed

1.20 11 Wood window 
side-hung

Pine and 
spruce

Triple- 
glazed

1.20 12 Wood window 
fully reversible

Pine and 
spruce

Triple- 
glazed

1.20 16 Triple-glazed 
window or 
French window

Tropical 
wood

Triple- 
glazed

1.20 22 Outward- 
opening (Side 
swing- Fix and 
window)

Pine Triple- 
glazed

1.30 13 Pine double- 
glazed window

Pine Double- 
glazed

Table 6a 
Characteristics of wooden windows with a transmittance threshold value under that for zone F.

EPD 
ID

Window Wood Glazing
Type Weight 

[kg]
Size 
[m2]

Uw-value [W/ 
m2K]

Lifespan 
[years]

Type Weight 
[kg]

Type Weight 
[kg]

4 2-sided inward opening 
window

64.43 1.82 0,78 40 Laminated 
Pine

19 3-layer 
glass

41.40

6 Opening window 65.00 1.82 0,78 40 Laminated 
Pine

16.57 3-layer 
glass

42.05

8 Single window 69.10 1.82 0,798 40 Pine 22.9 3-layer 
glass

41.04

9 Top hung window 67.78 1.82 0,841 40 Pine 22.9 3-layer 
glass

40.08

Table 6b 
Characteristics of wooden windows with a transmittance threshold value under that for zone E.

EPD 
ID

Window Wood Glazing
Type Weight 

[kg]
Size 
[m2]

Uw-value 
[W/m2K]

Lifespan 
[years]

Type Mass [kg/ 
m2]

Type Mass [kg/ 
m2]

14 Opening Window 36.8 1.00 1.4 30 Oak 16.5 Double 16,9
15 Opening Window 30.7 1.00 1.4 30 Tropical 13.3 Double 15
11 Side-hung window 38.2 1.03 1.20 ND 51 % finger jointed and 

49 % spruce
11.29 3-layer 

glass
22.29

12 Fully reversible window 40.1 1.03 1.20 ND 51 % pine and 49 % 
spruce

11.29 3-layer 
glass

22.29

16 Single window 42.6 1.00 1.20 30 Tropical wood (Africa, 
South America 
or South-East Asia

17.7 3-layer 
glass

22.5

22 Outward-opening (Side swing- 
Fix and window)

40.42 1.00 1.20 30 Pine 15 3-layer 
glass

20,31

13 2-sided inward opening 
window

25.15 1.82 1.30 25 Laminated Pine 9.18 2-layer 
glass

12.38

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

7 



Table 7 
Life cycle stages EN 15804:2012 + A2:2020 included in the EPDs assessed.

EPD 
ID

Life cycle stages
Product stage Construction process stage Use stage End-of-life stage Benefits and 

loads beyond 
the system 
boundaries

Raw 
material 
supply

Transport Manufacturing Transport Construction – 
Installation 
process

Use Maintenance Repair Replacement Refurbishment Operational 
energy use

Operational 
water use

Deconstruction/ 
Demolition

Transport Waste 
processing

Disposal Reuse – 
Recovery – 
Recycling 
potential

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

1 X X X X X X X ​ ​ ​ ​ ​ X X X X X
2 X X X X X X X ​ ​ ​ ​ ​ X X X X X
3 X X X X X X X ​ ​ ​ ​ ​ X X X X X
4 X X X X ​ ​ X ​ ​ ​ ​ ​ ​ X ​ X X
5 X X X X ​ ​ X ​ ​ ​ ​ ​ ​ X ​ X X
6 X X X X X X X X X X X X X X X X X
7 X X X X ​ ​ X ​ ​ ​ ​ ​ ​ X ​ X X
8 X X X X ​ ​ X ​ ​ ​ ​ ​ ​ X ​ X X
9 X X X X ​ ​ X ​ ​ ​ ​ ​ ​ X ​ X X
10 X X X X ​ ​ X ​ ​ ​ ​ ​ ​ X ​ X X
11 X X X ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​
12 X X X ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​
13 X X X X X X X X X X X X X X X X ​
14 X X X X X ​ X ​ ​ ​ ​ ​ X X ​ X ​
15 X X X X X ​ X ​ ​ ​ ​ ​ X X X X X
16 X X X X X ​ X ​ ​ ​ ​ ​ X X X X X
17 X X X X X X X X X X X X X X X X ​
18 X X X X X X X X X X X X X X X X ​
19 X X X ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​
20 X X X ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​
21 X X X ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​
22 X X X ​ ​ ​ ​ ​ ​ ​ ​ ​ X X X X X

V. M
arinello Jorba et al.                                                                                                                                                                                                                      

Energy &
 Buildings 326 (2025) 114987 

8 



Table 8 
Overview of the 7 environmental impacts of 22 products identified by the assessment in the different life cycle stages (modules A1-D).

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

9 



of technology and the local context.
Firstly, the impact of wood selection was analysed. The windows of 

the eight selected EPDs are made of three different wood types: pine, 
oak, and tropical wood. To determine if the wood type is relevant for the 
environmental performance, the impacts of the EPDs were compared. 

EPDs 14 and 15 were selected as they use different wood types (oak and 
tropical wood, respectively), while sharing the same Uw-value (1.40 W/ 
m2K) and manufacturer (DE-bois).

Secondly, the influence of the Uw-value was studied. The Uw-value is 
related to the thermal quality of the window-mainly the wooden frame 
and glazing unit. To detect its performance, EPDs 8 and 9 both from 
Nordvestvinduet AS but with a ΔUw difference of 0.04 W/m2K, and 
EPDs 16 and 15, form DE-bois with a ΔUw difference of 0.20 W/m2K 
were compared.

Thirdly, the influence of the manufacturer was compared between 
EPDs 4 and 6. They are built with the same wood type (pine), size (1.82 
m2), and Uw-value (0.78 W/m2K), but by different manufacturers (Lian 
Trevarefabrikk AS and Norgesvinduet Kompetanse AS, respectively).

Finally, no assumptions to identify the performance of the raw ma
terial transport (distances, vehicle type, and other aspects, such as road 
condition) could be made, as the selected EPDs do not provide detailed 
information about transport scenarios. Also for the manufacturing stage, 
the judgement of experts consulted indicated that all the wooden win
dow’ manufacturers have similar processes as well as resource and en
ergy consumption during the manufacturing process.

3.2.2. Maintenance scenarios
This section explored the principal aspects that affect window 

environmental performance regarding maintenance during the use stage 
These are: location and climate, wood treatment and maintenance of the 
wooden window and its frequency.

In relation to the influence of climate conditions on maintenance 
activities, the maintenance measures and frequency required to main
tain the functional and thermal properties of the window were exam
ined. Due to outdoor exposure of the wood to various weather conditions 
(humidity, precipitation, etc.), some physical and chemical changes in 
the properties of the wood can be caused by organisms: insects, which 
bite the wood tissue, or bacteria and fungi, which attack the wood 
increasing its permeability, reducing the moisture absorption, and 
decreasing the strength properties [36].

According to Herrera et al. [27], after being exposed to natural 
environmental conditions, thermally modified wood has a lower mois
ture content compared to non-thermally modified wood. However, both 
wood types experience a density decrease after exposure. Moreover, 
untreated wood has a faster degradation and shorter service life 
compared to treated wood.

Thirdly, maintenance of the wooden windows involves two main 
activities: cleaning and oiling of movable parts. The cleaning process 
should be regular (i.e. at least three times per year) and can be done in 
two different ways: with a lint-free cloth and a neutral detergent for 
dust, and, for heavy soiling, with a specific non solvent-based cleaning 
agent to avoid damaging the surface [42]. Furthermore, oiling all 
movable parts every six months with a suitable lubricating oil is 
necessary to ensure the function of all the fittings [55].

Finally, based on the direct experience of technicians representing 
the most qualified companies in the wooden windows sector, an over
view of the maintenance scenarios for wooden windows is shown in 

Table 9 
The maintenance interval is based on coating and exposure with data retrieved 
from Vorwerk [55].

Initial 
coating

Exposure Colour Maintenance interval
Regular 
inspection 
without using 
maintenance 
products 
[Years]

Yearly inspection 
and using 
maintenance 
products 
[Years]

Translucent Protected 
weathering

Light 6 8
Medium 7 12
Dark 7 12

Normal 
weathering

Light 3 5
Medium 5 10
Dark 5 10

Heavy 
weathering

Light 2 3
Medium 3 5
Dark 3 5

Opaque Protected 
weathering

Light 15 18
Medium 12 15
Dark 11 14

Normal 
weathering

Light 12 15
Medium 10 12
Dark 9 11

Heavy 
weathering

Light 7 10
Medium 5 7
Dark 4 6

Table 10 
Cleaning process and the internal and external maintenance adopted for each 
EPD.

EPD 
ID

Cleaning External maintenance Internal maintenance
Description Cycles Description Cycles

4 3 washes per year 
and a yearly 
consumption of 
3 L of water and 
1.50 dL of 
detergent for 
1.82 m2

Wood painted 
every 5 years

7 Wood 
painted 
every 20  
years

1

6 Wood painted 
after 10 years 
and then every 
6 years

5

8 Wood painted 
every 8 years

4
9
13 No cleaning 

process
Wood painted 
every 5 years 
and includes 
the transport 
of the painter

4 Wood 
painted 
assumed 
every 20  
years

1

14 Consumption of 
360 L/m2, but 
the detergent is 
not included

Wood painted 
every 10 years

2
15
16

Table 11 
Results of the seven indicators for the production of the four tested window models for Climate zone F. Orange and blue represent the minimum and maximum values 
for each of the 7 impact categories.

EPD Functional Unit 
[m2]

Lifespan 
[years]

Uw-value 
[W/m2K]

GWP [kg 
CO2–eq.]

ODP [kg CFC- 
11–eq.]

POCP [kg 
C2H4–eq.]

AP [kg 
SO2 eq.]

EP-fw [kg 
PO4

3-–eq.]
ADP-e [kg 
Sb–eq]

ADP-f 
[MJ]

4 1.00 34 0.78 4.74E + 01 5.14E-06 2.48E-02 5.17E-01 4.87E-02 1.07E-03 8.52E +
02

6 1.00 34 0.78 5.55E + 01 5.99E-06 2.57E-02 4.73E-01 5.49E-02 1.45E-03 7.91E +
02

8 1.00 34 0.80 4.60E + 01 5.93E-06 2.77E-02 5.19E-01 5.93E-02 1.07E-03 8.90E +
02

9 1.00 34 0.84 4.35E + 01 5.66E-06 2.70E-02 5.06E-01 5.71E-02 8.46E-04 8.57E +
02

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

10 



Table 12 
Comparison based on similar Uw–values within Climatic Zone F (unit: 1 m2).

EPD 
ID

Uw–value 
[W/m2K]

GWP 
[kg CO2–eq.]

ODP 
[kg CFC–11–eq.]

POCP 
[kg C2H4–eq.]

AP 
[kg SO2–eq.]

EP-fw 
[kg PO4

3-–eq.]
ADP-e 
[kg Sb–eq.]

ADP-f 
[MJ]

AVERAGE

4 vs 6 0.78 17.1 % 16.6 % 3.8 % 8.6 % 11.7 % 35.6 % − 7.1 % 10.0 %
8 vs 9 0.80 vs 

0.04
5.7 % 4.9 % 2.6 % 2.6 % 3.8 % 26.0 % 3.8 % 7,0%

Table 13 
Comparison between EPDs with the minimum and maximum impacts in zone F (unit: 1 m2).

EPD ID GWP [kg CO2–eq.] ODP [kg CFC-11–eq.] POCP [kg C2H4–eq.] AP [kg SO2–eq.] EP-fw [kg PO4
3-eq.] ADP-e [kg Sb–eq] ADP-f [MJ]

6 vs 9 27.5 % 5,8% − 4.9 % − 6.6 % − 3.9 % 70.78 % − 7,.7%

Table 14 
Relative difference in the environmental indicators based on different offsets of Uw-value with same window size (unit: 1 m2).

EPD ID Uw-value 
[W/m2K]

GWP [kg CO2-eq.] ODP [kg CFC-11-eq.] POCP [kg C2H4-eq.] AP [kg SO2-eq.] EP-fw [kg PO4
3--eq.] ADP-e [kg Sb-eq.] ADP-f [MJ]

4 vs 8 0.78 vs 0.80 3.0 % − 13.4 % − 10.7 % − 0.4 % − 18.0 % 0.0 % − 4.3 %
6 vs 8 0.78 vs 0.80 20.7 % 0.9 % − 7.3 % − 9.0 % − 7.5 % 35.6 % − 11.1 %
4 vs 9 0.78 vs 0.84 8.8 % − 9.2 % − 8.3 % 2.2 % − 14.8 % 26.0 % − 0.6 %
6 vs 9 0.78 vs 0.84 27.5 % 5.8 % − 4.9 % − 6.6 % − 3.9 % 70.8 % − 7.7 %

Table 15 
Results of the seven indicators for the production of the four tested window models for Climate zone E. Orange and blue represent the minimum and maximum values 
for each of the 7 impact categories.

EPD Functional Unit 
[m2]

Uw-value [W/ 
m2K]

GWP [kg 
CO2–eq.]

ODP [kg CFC- 
11–eq.]

POCP [kg 
C2H4–eq.]

AP [kg 
SO2–eq.]

EP-fw [kg 
PO4

3-- eq.]
ADP-e [kg 
Sb- eq]

ADP-f 
[MJ]

14 1.00 1.4 2.27E þ 01 2.60E-06 1.71E-02 3.20E-01 4.38E-02 3.35E-04 8.09E +
02

15 1.00 1.4 3.39E + 01 1.19E-05 2.17E-02 4.82E-01 6.57E-02 1.40E-03 8.73E +
02

11 1.00 1.2 7.76E + 01 4.90E-06 8.00E-02 5.60E-01 1.00E-01 1.00E-02 3.39E +
02

12 1.00 1.2 9.44E + 01 6.10E-06 1.00E-01 7.10E-01 1.20E-01 2.00E-02 3.39E +
02

16 1.00 1.2 5.17E + 01 1.33E-05 2.89E-02 6.60E-01 8.51E-02 1.43E-03 1.16E +
03

22 1.00 1.2 5.57E + 01 8.69E-06 − − − 1.69E-03 9.67E +
02

Table 16 
Influence of the wood selection: the relative difference in the environmental indicators of the product stage based on the same Uw-value and manufacturer (FU: 1 m2).

EPD ID Uw-value 
[W/m2K]

GWP [kg CO2-eq.] ODP [kg CFC-11-eq.] POCP [kg C2H4-eq.] AP [kg SO2-eq.] EP-fw [kg PO4
3--eq.] ADP-e [kg Sb-eq.] ADP-f [MJ]

14 vs 15 1.40 –33.0 % − 78.2 % − 21.2 % –33.6 % –33.3 % − 76.1 % − 7.3 %

Table 17 
Influence of the fittings selection: the relative difference in the environmental indicators of the product stage based on the same Uw-value and manufacturer (FU: 1 m2).

EPD ID Uw-value 
[W/m2K]

GWP [kg CO2-eq.] ODP [kg CFC-11-eq.] POCP [kg C2H4-eq.] AP [kg SO2-eq.] EP-fw [kg PO4
3--eq.] ADP-e [kg Sb-eq.] ADP-f [MJ]

11 vs 12 1.20 21.6 % 24.5 % 25.0 % 26.8 % 20.0 % 100 % 0.2 %

Table 18 
Influence of the Uw-value: The relative difference in the environmental indicators of the product stage is based on different offsets of Uw-value (FU: 1 m2).

EPD ID Uw-value 
[W/m2K]

GWP [kg CO2-eq.] ODP [kg CFC-11-eq.] POCP [kg C2H4-eq.] AP [kg SO2-eq.] EP-fw [kg PO4
3--eq.] ADP-e [kg Sb-eq.] ADP-f [MJ]

16 vs 15 1.20 vs 1.40 52.5 % 11.8 % 33.2 % 36.9 % 29.5 % 2.1 % 32.9 %

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

11 



Table 9. The scenarios consider: the type of coating − translucent 
(varnish or stain) or opaque (painted) − the exposure, the colour (light, 
medium, and dark) and the maintenance interval with or without the use 
of maintenance products. The window exposure is classified into pro
tected weathering (similar to a dry climate affected by humidity and 
temperature, but protected against rain and direct sunlight), normal 
weathering (between dry and cold climate), and heavy weathering 
(similar to a cold climate affected by extreme climatic conditions).

The maintenance scenarios adopted by available EPDs, namely 
cleaning frequency throughout the service life of the window and its 
external and internal maintenance, are summarised in Table 10. In EPDs 
13, 14, 15, and 16, no specific criterion for internal maintenance of the 
wood is given, but for comparison purposes, a frequency of 20 years was 
assumed, as in the rest of the EPDs. Finally, based on the assumption 
expressed in the section 3.1, the environmental impacts were evaluated 
using the same dimensional unit as in the product stage and the number 
of maintenance cycles related to the service life was calculated.

4. Results

4.1. Environmental impacts during the production stage

4.1.1. Climatic zone F
The first evaluation concerns a comparative assessment in the pro

duction stage of window frames suitable for climate zone F. The adopted 
functional unit chosen is 1 m2 of window area with a transmittance 
value below 1. The analysis covers 7 environmental indicators, the 
designation of which is presented in Table 2.

Table 11 presents the results of the environmental impact analysis 
carried out on windows with a thermal transmittance within the climate 
zone F threshold value (<1).

The first comparison is made within climate zone F between win
dows with the same transmittance (4 and 6), followed by 8 and 9 
(Table 12). EPDs 4 and 6 have the same wood type, Uw-value, and size, 
but are produced by different manufacturers. In this case, the variation 
in the environmental impacts is relatively low (up to 26 %). An average 
difference of approximately 7 and 10 % is observed in the first and 
second cases, respectively (Table 11).

Secondly, we can observe that EPD 8 vs 9 (0.80 W/m2K vs 0.84 W/ 
m2K), both of which are triple-glazed, have a relative offset in Uw-value 
of 4.8 %. The relative difference in the environmental impacts is low for 
most indicators, ranging from 2.6 to 5.7 % except for the ADP-e 
indicator.

In order to comprehend how each component influences the impacts, 
we then analyse the relationship between the main components of a 
window frame (double-glazing, timber, and fittings) and their relative 
weights. We identify which elements have the lowest and highest 

Table 19 
Average of environmental indicators per maintenance stage (FU: 1 m2).

GWP 
[kg CO2- 
eq.]

ODP 
[kg CFC- 
11-eq.]

POCP 
[kg C2H4- 
eq.]

AP 
[kg SO2- 
eq.]

EP 
[kg PO4

3-- 
eq.]

ADP-e 
[kg Sb- 
eq.]

ADP-f 
[MJ]

9.00E −
01

8.75E −
08

4.00E −
04

5.35E −
03

9.39E −
04

9.49E 
− 06

1.72E 
+ 01

Table 20 
Environmental indicators of the use stage based on the window coating colour and climate zone (FU: 1 m2).

Italian climate 
zones

Colour Maintenance 
cycles

Impact indicators
GWP [kg CO2- 
eq.]

ODP [kg CFC-11- 
eq.]

POCP [kg C2H4- 
eq.]

AP [kg SO2- 
eq.]

EP [kg PO4
3-- 

eq.]
ADP-e [kg Sb- 
eq.]

ADP-f 
[MJ]

B Light 3 2.70E + 00 2.63E − 07 1.20E − 03 1.60E − 02 2.82E − 03 2.85E − 05 5.17E +
01

Medium 3 2.70E + 00 2.63E − 07 1.20E − 03 1.60E − 02 2.82E − 03 2.85E − 05 5.17E +
01

Dark 4 3.60E + 00 3.50E − 07 1.60E − 03 2.14E − 02 3.76E − 03 3.79E − 05 6.89E +
01

D Light 3 2.70E + 00 2.63E − 07 1.20E − 03 1.60E − 02 2.82E − 03 2.85E − 05 5.17E +
01

Medium 4 3.60E + 00 3.50E − 07 1.60E − 03 2.14E − 02 3.76E − 03 3.79E − 05 6.89E +
01

Dark 4 3.60E + 00 3.50E − 07 1.60E − 03 2.14E − 02 3.76E − 03 3.79E − 05 6.89E +
01

F Light 5 4.50E + 00 4.38E − 07 2.00E − 03 2.67E − 02 4.70E − 03 4.74E − 05 8.61E +
01

Medium 7 6.30E + 00 6.13E − 07 2.80E − 03 3.74E − 02 6.57E − 03 6.64E − 05 1.21E +
02

Dark 9 8.10E + 00 7.88E − 07 3.60E − 03 4.81E − 02 8.45E − 03 8.54E − 05 1.55E +
02

Table 21 
The relative difference in the environmental indicators of the use stage is based on different service lives for a wooden window (FU: 1 m2).

Initial 
coating

Exposure Colour Maintenance interval without using 
maintenance products 
[Years]

Maintenance cycles over a 
service life of 34 years

Maintenance cycles over a 
service life of 60 years

Relative difference 
in impacts 
[%]

Opaque Protected 
weathering

Light 15 3 7 233
Medium 12 3 8 267
Dark 11 4 8 200

Normal 
weathering

Light 12 3 8 267
Medium 10 4 9 225
Dark 9 4 9 225

Heavy 
weathering

Light 7 5 11 220
Medium 5 7 15 214
Dark 4 9 18 200

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

12 



weights, both in terms of glass and timber, in relation to the total weight 
of the window, i.e. EPD 6 vs 9. The one with the highest weight in glass 
and fittings is 6 (65 % glazing unit and approx. 7 as fittings), and wood is 
EPD 9 (approx. 34 %) (Fig. 4).

We then concentrate on comparing the minimum (9) and maximum 
(6) values of the GWP indicator (Table 13). The comparison reveals that 
a higher proportion of glass and steel results in an increase in the GWP, 
ODP, and ADPe indicators, while a higher proportion of wood leads to 
an increase in the POCP, AP, EP, and ADP fossil values.

Consequently, the same window size (1.82 m2) and different Uw- 
value offsets are analysed: ΔUw = 0.02 W/m2K (EPDs 4 vs 8 and EPDs 6 
vs 8) and ΔUw = 0.06 W/m2K (EPDs 4 vs 9 and EPDs 6 vs 9) (Table 12).

In all these cases, the relative differences in the environmental in
dicators shown between those offsets are around 15 %, even if most 
properties are shared except the manufacturer.

These EPDs could also be analysed individually. For example, EPDs 6 
vs 8 (ΔUw = 0.02 W/m2K) and EPDs 6 vs 9 (ΔUw = 0.06 W/m2K), with a 
different offset of Uw-value. In this situation, Table 14 shows that EPDs 6 
vs 9 have some environmental impacts (GWP, ODP, and ADP-e) around 
5 % higher than EPDs 6 vs 8, due to a higher offset of Uw-value. How
ever, other environmental impacts (POCP, AP, EP-fw, and ADP-f) from 
EPDs 6 vs 8 are around 3 % lower compared to EPDs 6 vs 9.

4.1.2. Climatic zone E
In zone E, the preliminary comparison looks at frames with trans

mittance values of 1.40 W/m2K (threshold value), weights of 36.8 and 
30.7, and similar characteristics, with the exception of wood provenance 
(oak for EPD 14 and tropical wood for EPD) (Table 15).

For six out of the seven environmental indicators, a difference of 
20–70 % is observed. One reason for this can be attributed to the origin 
of the wood, because a French manufacturer using oak from European 
forests requires shorter transport distances compared to tropical wood 
from Africa, South America, or South-East Asia (Table 16).

Another interesting aspect can be observed by comparing two fix
tures where the weight of the fittings changes (EPD 11 vs 12). In this 
case, for approximately the same amount of double glazing and wood, 
the weight of fittings (>57 % steel and > 58 % aluminum) increases. The 
difference in the environmental impacts is about 20 % for most in
dicators, ranging from 20 to 26.8 % except for the ADP-e and fossil in
dicators (Table 17).

In addition, a comparison between windows with a relative offset of 
14.3 % in Uw-value (1.20 W/m2K vs 1.40 W/m2K) − EPD 16 vs 15 −
shows significant divergencies in the environmental indicators, giving 
differences in the environmental indicators from 2–52 % (Table 18).

However, it is difficult to establish a linear relationship between the 
Uw-value and the environmental impacts; in addition to increasing the 
weight of the glazing unit (by 50 % between double and triple glazing), 
the quantity of wood also increases (approx. + 33 %) (Fig. 5).

In agreement with the findings for Climate Zone F, the comparison 
indicates that an increased proportion of glass leads to higher values in 
the GWP, ODP, and ADPe indicators, while a higher proportion of wood 
primarily affects the POCP, AP, EP, and ADP fossils indicators.

Finally, the influence of the Uw-values over the environmental im
pacts GWP, ODP, POCP, AP, EP-fw, ADP-e, and ADP-f, are shown in 
Fig. 6 to Fig. 12, respectively. For the GWP, a trend seems to exist; the 
higher the Uw-value, the lower the GWP. However, this is not found with 
the 1.20 W/m2K. For the ODP, ADP-e, and ADP-f two different trends 
appear, one between 0.78 W/m2K and 0.84 W/m2K and another be
tween 1.20 W/m2K and 1.40 W/m2K, showing a correlation of the 
lower the Uw-value, the higher the environmental impacts. For the 
POCP, AP, and EP-fw no correlation exists, as the environmental impacts 
are more or less constant between 0.78 W/m2K to 0.84 W/m2K and the 
1.40 W/m2K, but are higher for 1.20 W/m2K and lower for 1.30 W/ 
m2K.

Fig. 4. Percentage contribution by weight of the three main window components compared to the total window weight (Climatic zone F, Uw-value ≤ 1.0).

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

13 



4.2. Maintenance phase

After defining the maintenance scenarios and the frequency of the 
maintenance activities, the values of the environmental impacts of each 
EPD per maintenance cycle were calculated. For this calculation, module 
B4 was neglected, as it was only considered in EPD 6.

EPD 13 had values up to four times higher than the other EPDs, as it 
was considering a repair scenario instead of maintenance. Therefore, 
this EDP was discarded. Table 19 shows the average environmental 
impact per maintenance stage.

The influence of location on the environmental impacts of mainte
nance was studied considering an average service life of 34 years. 
Furthermore, three Italian climate zones were selected for the analysis: 
climate zone B (protected weather), climate zone D (normal weather), 
and climate zone F (heavy weather). Further assumptions adopted were 
an opaque initial coating and a yearly inspection performed without 
using maintenance products. Then, the frequency of the maintenance 
activities was calculated (Table 20).

The highest impact values are for a window with a dark colour 
coating and located in Italian climate zone F, which is found to be three 

Fig. 5. Percentage contribution by weight of the three main window components compared to the total window weight (Climatic zone E, Uw-value ≤ 1.4).

Fig. 6. Variability of GWP indicator of the product stage based on the Uw-value (FU: 1 m2).

Fig. 7. Variability of ODP indicator of the product stage based on the Uw-value (FU: 1 m2).

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

14 



times that of the lowest case (light colour of coating and Italian climate 
zone B).

A sensitivity analysis was carried out considering service life varia
tion. The same assumption of one internal maintenance treatment every 
20 years was adopted, while the frequency of external maintenance 
treatments was taken from the maintenance scenarios defined in 
Table 7. This outline analysed a change in the service life between 34  
years, as the average value among the collected EPDs, and 60 years, as 
the average value assumed in the literature [38]. A non-linear correla
tion is observed with the increase in the service life (Table 21). The 
increase in the service life is 176 %, whereas the environmental impacts 
vary between 200–267 % depending on the different weather exposure 

of the window and coating colour. However, the number of maintenance 
cycles and their resulting environmental impacts provide the same 
outcome: the maximum environmental impacts correspond to a dark 
coating colour and the Italian climate zone F, whereas the minimum 
environmental impacts are associated with a light coating colour and the 
Italian climate zone B. However, there is a 2.6 fold difference between 
maximum and minimum environmental impacts for the service life of 
60 years, compared to a 3 fold for the service life of 34 years.

The changes in the environmental impacts when considering 
different climate zones and coating colour, and a service life of 34 years 
are analysed. Fig. 13 shows the environmental indicators for the Italian 
climate zone B for the different coating colours. In this case, the light 

Fig. 8. Variability of POCP indicator of the product stage based on the Uw-value (FU 1 m2).

Fig. 9. Variability of AP indicator of the product stage based on the Uw-value (FU: 1 m2).

Fig. 10. Variability of EP indicator of the product stage based on the Uw-value (FU 1 m2).

Fig. 11. Variability of ADP-e indicator of the product stage based on the Uw-value (FU: 1 m2).

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

15 



and medium colours share the same values for the environmental in
dicators and the values for the dark colour are 33 % higher.

Fig. 14 Presents the environmental indicators for the italian climate 

zone d with the different coating colours. in this case, the environmental 
impacts of the window with the light colour are 25 % lower than the 
values for the other colours.

Fig. 12. Variability of ADP-f indicator of the product stage based on the Uw-value (FU: 1 m2).

Fig. 13. Environmental indicators of the maintenance stage for the Italian climate zone B based on coating colours (FU: 1 m2).

Fig. 14. Environmental indicators of the use stage for the Italian climate zone D based on coating colours (FU: 1 m2).

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

16 



The environmental indicators for the Italian climate zone F are pre
sented in Fig. 15. The value for a window with a light coating is about 44 
% lower in comparison to a window with a dark coating.

Fig. 16 shows the environmental indicators for a light coating colour 
in the different Italian climate zones. The environmental impacts for the 
Italian climate zones B and D are 40 % lower than the values for the 
Italian climate zone F.

Fig. 17 presents the environmental indicators for a medium coating 
colour. The Italian climate zone B presents the lowest values for the 
environmental indicators, 57 % lower in comparison to the Italian 
climate zone F.

Fig. 18 shows the environmental indicators for a dark coating colour. 
The environmental impacts for climate zone F are about 55 % higher 
than those for the other zones.

5. Discussion and Recommendations

This study analysed the embedded impacts associated with the 
manufacturing of wooden windows and the operational impacts related 
to maintenance activities during their service life. The work sought to 
understand how the main window components (wood, glazing and fit
tings type), Uw-value, size of the manufactured window frame, and 
manufacturer influence the environmental impacts of the product stage. 
Furthermore, the influence on the environmental impacts generated 
during maintenance of these properties, as well as service life, coating 
type and climate conditions was studied.

Twenty-two EPDs of wooden windows based on the European 
environment were collected. Of those, eleven were selected for further 
study, as they analyse the product and use stages and meet the specified 
range of Uw-values (0.78 W/m2K to 1.40 W/m2K). The adopted func
tional unit was 1 m2 of the window surface, with a thermal trans
mittance performance suitable for each Italian climate and a service life 
of 34 years.

The results show that the most influential attributes in terms of 
environmental impacts are glazing, wood origin, and fittings, respec
tively. The first aspect assessed was the raw material supply and the 
wood selection, and two conclusions were made. The environmental 
impacts of the studied windows depend on the manufacturer. Further
more, the provenance of the wood type significantly influences the 
environmental impacts, contributing approximately 50 % to the GWP, 
and around 30 % to the POCP, AP, EF-fw, and ADP-f indicators. 

Regarding glazing, which is known to significantly influence the thermal 
performance of the entire window, increasing the number of layers re
sults, as expected, in a linear increase across all environmental in
dicators, particularly for GWP, ODP, and ADPe. Finally, fittings can 
increase the GWP by up to 20 % when their weight increases by 
approximately 50 %.

Next, the influence of change in the Uw-value was studied. The 
conclusion was that the higher the offset of Uw-value in EPDs, the higher 
the relative difference of the environmental impacts. However, a non- 
linear correlation was observed.

As might be expected, the case study confirms that the embedded 
impacts of wooden windows vary mostly with the influence of the Uw- 
value: the higher the offset of Uw-value between EPDs, the higher the 
relative difference in the environmental impacts. Fig. 19 shows the 
trade-off significance per environmental indicator of the product stage 
in each Uw-value. The correlation between all the EPDs is not linear.

Regarding operational impacts, only the maintenance stage was 
analysed. In particular, the climate conditions imply a difference in the 
required maintenance activities for the window. For instance, dry cli
mates need less maintenance and lower quality of the components used 
to build the window to achieve the same service life compared to cold 
climates. Moreover, thermally treated wood usually has a longer service 
life than untreated wood, due to its lower moisture content, so resulting 
in a lower tendency to degrade and a longer service life.

Furthermore, yearly inspection of the window leads to an increase in 
the interval between maintenance stages and longer service life. The 
frequency of maintenance stages varies according to the coating type, 
coating colour, and climate conditions. The environmental impacts be
tween the maximum environmental impacts for a dark colour coating 
and the Italian climate zone F and the minimum environmental impacts 
for a light colour coating and the Italian climate zone B vary up to three 
times for an average service life of 34 years and up to 2.6 times for 60  
years.

Moreover, the operational impacts depend significantly on the 
colour coating and the Italian climate zone, highlighting the influence of 
the latter, with the highest environmental impacts for a darker colour 
coating and the Italian climate zone F. Fig. 20 shows the trade-off sig
nificance of the operational impacts for the three coating colours and the 
three Italian climate zones.

The study developed enables designers to select better window so
lutions by streamlined LCA based on EPDs data. The approach shown 

Fig. 15. Environmental indicators of the use stage for the Italian climate zone F based on coating colours (FU: 1 m2).

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

17 



can be further implemented with impact indicators related to end-of-life 
cycle stages, in addition to product and maintenance stages.

Further work could be expanded to consider other properties for the 
product stage, such as coating type, solar factor, window size, or window 
shape. The window size was considered in the analysis, but due to the 
lack of data in the EPDs, a definite conclusion about its influence was not 
possible. Moreover, the maintenance stages were limited to three of the 
six Italian climate zones. A future study could consider all climate zones 
and a more complete representation of Uw-values. In the present case, 
this could not be achieved due to the limited availability of published 
EPDs for wooden windows appropriate for dry climates (high Uw- 
values), as the majority of window EPDs are for low Uw-values.

Finally, the same approach could be applied in other geographical 
contexts such as Central and Northern Europe to validate the conclu
sions of this study.

CRediT authorship contribution statement

Victor Marinello Jorba: Writing – original draft, Visualization, 
Investigation, Formal analysis, Data collection. Elisabetta Palumbo: 
Writing – review & editing, Data curation, Validation, Supervision, 
Methodology, Investigation, Conceptualization. Pamela del Rosario: 
Visualization, Formal analysis. Marzia Traverso: Writing – review & 
editing, Supervision.

Declaration of competing interest

The authors declare that they have no known competing financial 
interests or personal relationships that could have appeared to influence 
the work reported in this paper.

Fig. 16. Environmental indicators of the use stage for a light coating colour based on the Italian climate zones (FU: 1 m2).

Fig. 17. Environmental indicators of the use stage for a medium coating colour based on the Italian climate zones (FU: 1 m2).

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

18 



Data availability

The data used can be shared 

References

[1] Accoys. (2022). ‘Accoya Wood Technology’. <https://www.accoya.com/uk/why- 
accoya/> (Apr. 13, 2022).

Fig. 18. Environmental indicators of the use stage for a dark coating colour based on the Italian climate zones (FU: m2).

Fig. 19. Trade-off significance of the environmental indicators of the product stage for different Uw-values.

Fig. 20. Trade-off significance of the environmental indicators of the use stage for different coating colours (light, medium, and dark) and Italian climate zones (B, D, 
and F).

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

19 



[2] N. Ahn, S. Park, Impact of coating and indoor relative humidity on the deformation 
characteristics of the timber hybrid window frame, Journal of Building Engineering 
49 (2022) 104089.

[3] N. Ahn, S. Park, Heat Transfer Analysis of Timber Windows with Different Wood 
Species and Anatomical Direction, Energies 13 (6050) (2020).

[4] N. Alaux, M.R.M. Saade, A. Passer, Inventory regionalization of background data: 
Influence on building life cycle assessment and carbon reduction strategies, Journal 
of Cleaner Production 418 (2023) 137780, https://doi.org/10.1016/j. 
jclepro.2023.137780.

[5] K. Alexandros, Life cycle analysis of transparent building elements, Thessaloniki, 
Greece, 2012.

[6] M. Asif, T. Muneer, J. Kubie, Sustainability analysis of window frames, Building 
Services Engineering Research and Technology 26 (1) (2005) 71–87.

[7] G. Baldinelli, F. Asdrubali, C. Baldassarri, F. Bianchi, F. D’Alessandro, S. Schiavoni, 
C. Basilicata, Energy and environmental performance optimization of a wooden 
window: A holistic approach, Energy and Buildings, Elsevier b.v. 79 (2014) 
114–131.

[8] A. Del Borghi, LCA and communication: Environmental Product Declaration, 
International Journal of Life Cycle Assessment 18 (2) (2013) 293–295.

[9] A. Del Borghi, L. Moreschi, M. Gallo, Communication through ecolabels: how 
discrepancies between the EU PEF and EPD schemes could affect outcome 
consistency, International Journal of Life Cycle Assessment, the International Journal 
of Life Cycle Assessment 25 (5) (2020) 905–920.

[10] European Parliament and Council. (2024). Directive (EU) 2024/1275 on the energy 
performance of buildings (recast). Official Journal of the European Union, L 153/13. 
8 May 2024. Available at: EUR-Lex.

[11] K. Berti, D. Bienvenido-Huertas, C. Rubio-Bellido, The influence of climate change 
on the design strategies of the built environment: The heterogeneous climate of 
Italy analyzed in future scenarios, in: Resilient and Sustainable Cities: Research, 
Policy and Practice, Elsevier, 2023, pp. 357–396.

[12] D. Božiček, R. Kunič, M. Košir, Interpreting environmental impacts in building 
design: Application of a comparative assertion method in the context of the EPD 
scheme for building products, Journal of Cleaner Production 279 (2021).

[13] A. Braune, S. Kittelberger, J. Kreissig, The EPD 2.0 concept – a new way of 
integrating life cycle management, 2011.

[14] CEN/TC 33, EN 17213:2019 - Windows and doors - Environmental Product 
Declarations - Product category rules for windows and pedestrian doorsets, 
European Committee for Standardization, Brussels, 2019.

[15] S. Carlisle, E. Friedlander, The influence of durability and recycling on life cycle 
impacts of window frame assemblies, International Journal of Life Cycle 
Assessment 21 (11) (2016) 1645–1657.

[16] M. de Klijn-Chevalerias, S. Javed, The Dutch approach for assessing and reducing 
environmental impacts of building materials, Building and Environment, Elsevier Ltd 
111 (2017) 147–159.

[17] P. Del Rosario, E. Palumbo, M. Traverso, Environmental product declarations as 
data source for the environmental assessment of buildings in the context of Level(s) 
and DGNB: How feasible is their adoption? Sustainability 13 (11) (2021).

[18] V. Durão, J.D. Silvestre, R. Mateus, J. de Brito, Assessment and communication of 
the environmental performance of construction products in Europe: Comparison 
between PEF and EN 15804 compliant EPD schemes, Resources, Conservation and 
Recycling, Elsevier 156 (January) (2020) 104703.

[19] CEN/TC 350, EN 15804:2012+A2:2019. Sustainability of construction works – 
environmental product declarations – core rules for the product category of 
construction products. Brussels, Belgium.

[20] CEN, EN 16485: 2014. Round and sawn timber - Environmental Product 
Declarations - Product category rules for wood and wood-based products for use in 
construction. Brussels: European Committee for Standardization; 2014.

[21] A. Furberg, R. Arvidsson, S. Molander, A practice-based framework for defining 
functional units in comparative life cycle assessments of materials, Journal of 
Industrial Ecology 26 (2) (2021) 498–512.

[22] B.M. Galindro, S. Welling, N. Bey, S.I. Olsen, S.R. Soares, S.O. Ryding, Making use 
of life cycle assessment and environmental product declarations: A survey with 
practitioners, Journal of Industrial Ecology 24 (5) (2020) 965–975.

[23] C. Garzia, The italian market for windows and curtain walls in 2020 and 2021, 
2021.

[24] M. Gelowitz, J. McArthur, Comparison of type III environmental product 
declarations for construction products: Material sourcing and harmonization 
evaluation, J. Clean. Prod. 157 (2017) 125–133.

[25] D. Godinho, C. Ferreira, A. Lourenço, T. Quilhó, T.C. Diamantino, J. Gominho, The 
behavior of thermally modified wood after exposure in maritime/industrial and 
urban environments, Heliyon. (2024).

[26] A. Hermelink, B. von Manteuffel, J. Grözinger, Minimum performance 
requirements for window replacement in the residential sector, ECOFYS Germany 
Gmbh, Cologne, 2017.

[27] R. Herrera, A. Arrese, P.L. de Hoyos-Martinez, J. Labidi, R. Llano-Ponte, Evolution 
of thermally modified wood properties exposed to natural and artificial weathering 
and its potential as an element for façades systems, Construction and Building 
Materials 172 (2018) 233–242.

[28] C.R. Iddon, S.K. Firth, Embodied and operational energy for new-build housing: A 
case study of construction methods in the UK, Energy and Buildings, Elsevier b.v. 67 
(2013) (2013) 479–488.

[29] International Energy Agency (IEA). (2023). Technology and Innovation Pathways for 
Zero-carbon-ready Buildings by 2030. IEA Report on Zero-carbon-ready Buildings.

[30] ISO. (2020a). ISO 14040:2006+A1:2020 - Environmental Management – Life Cycle 
Assessment – Principles and Framework - Principles and Framework’. International 
Organization for Standardization, Geneva.

[31] ISO. (2020b). ISO 14044:2006+A2:2020 – Environmental Management – Life 
Cycle Assessment – Requirements and Guidelines– Amendment 2. Geneva.

[32] ISO (2006). ISO 14025:2006 - Environmental labels and declarations - Type III 
environmental declarations - Principles and procedures. International Organization 
for Standardization, Geneva.

[33] B.P. Jelle, A. Hynd, A. Gustavsen, D. Arasteh, H. Goudey, R. Hart, Fenestration of 
today and tomorrow: A state-of-the-art review and future research opportunities, 
Solar Energy Materials and Solar Cells 96 (1) (2012) 1–28.

[34] A. Koezjakov, D. Urge-Vorsatz, W. Crijns-Graus, M. van den Broek, The relationship 
between operational energy demand and embodied energy in Dutch residential 
buildings, Energy and Buildings 165 (2018) 233–245.

[35] A. Loli, C. Skaar, H. Bergsdal, M. Reenaas, Comparing embodied GHG emissions 
between environmental product declaration and generic data models: Case of the 
ZEB laboratory in Trondheim, Norway. Building and Environment 242 (2023) 
110323.

[36] S.K. Malhotra, Factors which influence durability of wooden structures, IABSE 
Symposium Lisbon 1989: Durability of Structures 57 (1) (1989) 193–198.

[37] L. Martinelli, A. Matzarakis, Influence of height/width proportions on the thermal 
comfort of courtyard typology for Italian climate zones, Sustainable Cities and 
Society, Elsevier b.v. 29 (2017) 97–106.

[38] G.F. Menzies, Whole Life Analysis of timber, modified timber and aluminium-clad 
timber windows: Service Life Planning (SLP), Wood Window Alliance, Whole Life 
Costing (WLC) and Life Cycle Assessment (LCA), 2013.

[39] J. Michalak, S. Czernik, M. Marcinek, B. Michalowski, Environmental burdens of 
external thermal insulation systems. Expanded polystyrene vs. mineral wool: Case 
study from Poland, Sustainability (switzerland) 12 (11) (2020).

[40] J. Michalak, B. Michałowski, Understanding of construction product assessment 
issues and sustainability among investors, architects, contractors, and sellers of 
construction products in poland, Energies 14 (7) (2021).

[41] E. Minne, K. Wingrove, J.C. Crittenden, Influence of climate on the environmental 
and economic life cycle assessments of window options in the United States, Energy 
and Buildings, Elsevier b.v. 102 (2015) 293–306.

[42] R. Modaresi, Environmental Product Declaration: Opening Window, The 
Norwegian EPD Foundation. (2020).

[43] A. Passer, S. Lasvaux, K. Allacker, D. De Lathauwer, C. Spirinckx, B. Wittstock, 
D. Kellenberger, F. Gschösser, J. Wall, H. Wallbaum, Environmental product 
declarations entering the building sector: critical reflections based on 5 to 10 years 
experience in different European countries, International Journal of Life Cycle 
Assessment 20 (9) (2015) 1199–1212.

[44] C. Peña, B. Civit, A. Gallego-Schmid, A. Druckman, A. Caldeira-Pires, B. Weidema, 
E. Mieras, F. Wang, J. Fava, L.M. i Canals, M. Cordella, P. Arbuckle, S. Valdivia, S. 
Fallaha, W. Motta, Using life cycle assessment to achieve a circular economy, 
International Journal of Life Cycle Assessment 26 (2) (2021) 215–220.

[45] J.M.B. Recio, R.P. Narváez, P.J. Guerrero, Estimate of energy consumption and CO2 
emission associated with the production, use, and final disposal of PVC, aluminum, 
and wooden windows, Département de Projectes d’Enginyeria, Universitat 
Politècnica de Catalunya, Environmental Modelling Lab., Barcelona, Spain, 5 
(April) (2005).

[46] S. Saadatian, C. Rodrigues, F. Freire, N. Simões, Environmental and cost life-cycle 
approach to support selection of windows in early stages of building design, 
Journal of Cleaner Production 363 (2022) 132624.

[47] J. Salazar, Life cycle assessment (LCA) of windows and window materials, Eco- 
Efficient Construction and Building Materials, Life Cycle Assessment (LCA), Eco- 
Labelling and Case Studies, 2013, pp. 502–527.

[48] A. Sinha, A. Kutnar, Carbon footprint versus performance of aluminum, plastic, and 
wood window frames from cradle to gate, Buildings 2 (4) (2012) 542–553.

[49] B. Soust-Verdaguer, E. Palumbo, C. Llatas, Á. Velasco Acevedo, M.D. Fernández 
Galvéz, E. Hoxha, A. Passer, The Use of Environmental Product Declarations of 
Construction Products as a Data Source to Conduct a Building Life-Cycle 
Assessment in Spain, Sustainability 15 (2023) 1284.

[50] M. Tarantini, A.D. Loprieno, P.L. Porta, A life cycle approach to Green Public 
Procurement of building materials and elements: A case study on windows, Energy 
36 (5) (2011) 2473–2482.

[51] M. Tavana, M. Izadikhah, R. Farzipoor Saen, R. Zare, An integrated data 
envelopment analysis and life cycle assessment method for performance 
measurement in green construction management, Environmental Science and 
Pollution Research, Environmental Science and Pollution Research 28 (1) (2021) 
664–682.

[52] The Norwegian EPD Foundation, PCR – Windows and doors, NPCR (2013) 014 
rev1.

[53] United Nations Environment Program (2024). Global Status Report for Buildings 
and Construction: Beyond foundations: Mainstreaming sustainable solutions to cut 
emissions from the buildings sector. Nairobi. https://doi.org/10.59117/ 
20.500.11822/45095.

[54] N. Viholainen, F. Franzini, K. Lähtinen, A.Q. Nyrud, C. Widmark, H.F. Hoen, 
A. Toppinen, Citizen views on wood as a construction material: Results from seven 
European countries, Canadian Journal of Forest Research 51 (5) (2021).

[55] R. Vorwerk, Recommendations for care and maintenance – you’ve made the right 
choice! Remmers, 2020.

[56] E. Palumbo, B. Soust-Verdaguer, C. Llatas, M. Traverso, How to Obtain Accurate 
Environmental Impacts at Early Design Stages in BIM When Using Environmental 

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

20 

http://refhub.elsevier.com/S0378-7788(24)01103-4/h0010
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0010
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0010
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0015
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0015
https://doi.org/10.1016/j.jclepro.2023.137780
https://doi.org/10.1016/j.jclepro.2023.137780
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0035
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0035
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0040
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0040
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0040
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0040
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0050
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0050
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0055
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0055
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0055
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0055
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0065
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0065
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0065
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0065
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0070
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0070
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0070
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0085
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0085
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0085
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0090
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0090
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0090
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0095
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0095
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0095
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0100
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0100
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0100
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0100
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0115
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0115
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0115
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0120
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0120
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0120
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0130
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0130
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0130
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0135
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0135
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0135
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0140
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0140
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0140
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0145
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0145
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0145
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0145
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0150
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0150
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0150
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0180
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0180
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0180
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0195
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0195
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0195
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0195
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0200
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0200
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0205
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0205
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0205
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0210
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0210
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0210
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0215
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0215
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0215
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0220
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0220
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0220
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0225
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0225
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0225
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0230
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0230
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0235
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0235
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0235
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0235
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0235
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0250
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0250
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0250
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0255
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0255
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0255
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0260
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0260
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0265
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0265
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0265
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0265
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0270
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0270
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0270
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0275
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0275
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0275
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0275
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0275
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0280
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0280
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0290
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0290
http://refhub.elsevier.com/S0378-7788(24)01103-4/h0290


Product Declaration. A Method to Support Decision-Making, Sustainability 12 (17) 
(2020) 6927, https://doi.org/10.3390/su12176927.

[57] C. De Wolf, M. Cordella, N. Dodd, B. Byers, S. Donatello, Whole life cycle 
environmental impact assessment of buildings: Developing software tool and 
database support for the EU framework Level(s), Resources, Conservation and 
Recycling 188 (2023) 106642.

[58] N. Alaux, M.R.M. Saade, A. Passer, Inventory regionalization of background data: 
Influence on building life cycle assessment and carbon reduction strategies, Journal 
of Cleaner Production 418 (2023) 137780, https://doi.org/10.1016/j. 
jclepro.2023.137780.

V. Marinello Jorba et al.                                                                                                                                                                                                                      Energy & Buildings 326 (2025) 114987 

21 

https://doi.org/10.3390/su12176927
http://refhub.elsevier.com/S0378-7788(24)01103-4/h9000
http://refhub.elsevier.com/S0378-7788(24)01103-4/h9000
http://refhub.elsevier.com/S0378-7788(24)01103-4/h9000
http://refhub.elsevier.com/S0378-7788(24)01103-4/h9000
https://doi.org/10.1016/j.jclepro.2023.137780
https://doi.org/10.1016/j.jclepro.2023.137780

	Interpreting environmental impacts of wooden windows based on existing EPDs: An application in Italy
	1 Introduction
	2 Background
	2.1 Key enablers in defining environmental profile of window
	2.2 EPD as LCA data source impacts

	3 Methodology
	3.1 Collection and evaluation of EPDs (Step 1)
	3.2 Environmental impact calculation EPD-based LCA at various life cycle stages (Step 2)
	3.2.1 Product stage scenario
	3.2.2 Maintenance scenarios


	4 Results
	4.1 Environmental impacts during the production stage
	4.1.1 Climatic zone F
	4.1.2 Climatic zone E

	4.2 Maintenance phase

	5 Discussion and Recommendations
	CRediT authorship contribution statement
	Declaration of competing interest
	datalink3
	References


